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.,(,L‘FVEtOpower is not possessed by in U.N. Security Council
-_ 5 (A) U.K. (B) USA
(C) Russia (D) West Germany
U.N. Q50D s160aui, Ad-u A s wAd el war 9l ?
(A) §24-8 (B) 2A3 5L~
(C) Lwa— (D) u(En vg_{-_{l__
Which of the follwing is not an agency of U.N.
v (A) WHO (B) IMF
(C) Red Cross (D) FAO
2 DA S gD Bl ?
(A) WHO (B) IMF
: (O) Red Cross (D) FAO
? 5. The most important small scale industry in India IS
(A) Textile Industry (B) Paper Industry
(C) Handloom Industry (D) Jute Industry
3. cuRdui Al Heeyel @y Geldy sul 3
(A) 5148 Galag_ (B) st Gaalat -
(€) &8¢ Galdt- (D) 2121 Geaat -
4. The plant important to sericulture is
(A) Pea (B) Legumes
(C) Mulberry (D) Cassia
4. QUM GI™UI sul 6918 VoL % ML 89 ?
(A) <2l (B) 56191
(C) AR (i
S. Which of the following river is recharged by subsoil water ?
l (A) Godavari (B) Damodar
} (C) Narmada (D) Krishna
4 3. A2 WA 56 €] wallA-u el R (Recharged) Wy 9
(A) el (B) ELHIER
(C) 1HEL (D) Fwu
g 6. Which Country has written on their coins following. “This is the root causc of all evils”
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(A) ltaly
(C) Cuba

(I3) Vatican City
(D) Russia
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""" Which of the following has no skeleton al all ?
% (B) Sponge

(D) Silver Fish

(A) Star Fish
(C) Jelly Fish
Qi 814 s 4l ? _
(A) 2R Wl (B) 27 .
(C) 3 (3 (D) Reea2 (52
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E 8. Which animal can ereate the loudest sound among following ? ‘1
1 (A) Sperm whale (B) Gibbon :
(C) Himpback whales (D) Howler Monkey
8. A W4 sy el Al w2l e s a5 & ? 1
(A) U¥ L% (B) (Bt ;
Qmu&"ia {2 (D) 142 A2
9. “Spermology™ is the study of #
(A) Seeds (B) Leaf
(C) Fruits (D) Pollen Grains
9. “HildlD” sut [Quul ey © ?
(A) ol (13) gl
(C) sU (D) UL 2% (Pollen grain)
10. The energy released by 1 gram of glucose is
(A) 3 Kc: (B) 4 Kcea
(C) 5 K (D) 6 Kea
10. 1 g sizuidl s2dl Gt Hol 9 7 :
(A) I Ke: \ o (B) 4 Kea J
(C) 5 Kea (D) 6 Kea J
11. Who is the author of *Anandmath™,
(A) Rabindranath Tagore (BB) Sarojini Nayadu : "‘
(C) Jyotiba Dhule (D) Bankim Chandra Chattopadyava j
11. “UUHE HE AL AVLS S0 el ? ]
~— a8
| LA=(asa 2 (B) U212l g A
(C) uldlow 34 (D) 6ilH2is aziuiay C)

—

_‘l-''[:‘.l_.‘._'l'—J-I""I-__.l T
! 'I a 8 i =

— ~

12,  __“lndiaswins-freedom™ is the autobiography of ?

(A) Abdul Kalam Azad (B) L.K. Advani

¢ (C) Rajendra Prasad (D) Subash Chandra Bose
12. “India wins Freedom™ 2i si-l 215U 69 ?

- (A) 2O SHUM VUNE (B) A, 3. w3l

(C) A% % UAE (D) Yoaruais; ol
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g 13." The purest form of iron is
(A) Wrought Iron (B) Stecl

(C) Pig Iron (D) Nickel Steel
13.  dlvisy Al s 243N 5 ¢9 7
i (A) 451AA ALV (B) 22ld
(ol 21U (D) [sazdlas
g’ 14. MS-Word is an example of :
f (A) An operating system (B) A processing device
(C) Application Software (D) An inpul device .
(4. MS Word .o 4 Gelg2a 8.
(A) 22 2lo Alz2H (B) WAl Ao
(C) vidlBai Aig242 (D) #A5 $y2 Gusl
19, Ctrl, S;ift, and Alt arc called Kevs
(-:-G VModiher LL%)_Functitm
((')‘:\Iplmnumuric (D) Adjustment
15. Ctrl, Shift 244 Alt A oo 0| seAlMi 0 8.
(A) Hls51u2 (B) 5 591
(C) 25 14Hl25 (D) 2AsH22H2
16. With which of the following was Satyajit Ray associated
(A) Commercial Art (B) Classical Vusic
(') Classical Dance (D) Dircction of Films
16. AaHidl 212 215 Bl ALA ASUUAE &9 U
(A) 8Hfiﬂqﬂ 22 .(.-lj‘) Egu:a_r,ﬂq 3.{3nr{
(C) 2uzAld 14 (D) (B (e
17. VI.S. Subalakshmi has distineuished herselbin the field of
(A) Kathak (13) Bharatnatyam
(C) Playing Violin (D) Vocal Music
17. S wiat, Yoolazdlul san M il 2l s ordl 69 7
(A) 545 (13) H=d AUZUH
(C) adif@ aousd (D) 21U
8. Which city is known as “City of Blood™ in India ?
(A) Jaisalmar | (13) Jodhpur
(C') Yavatmal (D) Tezpur
8. Mizd 4 262 “City of Blood” A3l5 20U 9 !
b (A) BUAHZ (13) “AHY2 &
(C) 4t JUREAE

ol
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The world tamouns “IKhajuraho™ scalptures arve located in

(A) Maharashtea (13) (;u_i;n'ul

(C) Odisha (D) Madhva Pradesh

19. (s sl v o (9end sen 2940 suac 49 7

(A) Hel2 (1B) 2% 21

(C) 2L dlau

() 31 U
20, B.CORoy Awardas given i the field of
(A) Journahsm (13) Medicine

(C) Music (D) Eonvironment

20). B. C. Roy 2als 541 AA 14 250044 19 7
(A uAsRA (B) %4l
(C) 4ol (1) 44192
21. It d;l I l‘lll;D“)Nl‘:l.“‘lllt‘ll how “"DISTANCE" is coded ?
yll)'l‘HN.-\l{(‘ (BYIDTSNACE
(C) IDTSANEC (D) DISTANCE
21. AHANDLE™ A dislds 2ld “AHDNEL? AZ15 Qw4 At *DISTANCE™ 4 54l Sld 4vid ?
(A) IDTSNALC (B) IDTSNACE
(C) IDTSANE( (D) DISTANCE
9

y 48 md the word that does not helone to oroup of other three words.
Find tl | thatd ( belonge to e y of other three word

-

(A) lron . (13) Mercury 77
(C)Silhver - (D) Gold .
22, g AR (A5 74 A1 20HA A e AL 2197 20AL 4
(A) ALViS <)
(C) Al () Al
23, Find out the value at question mark

——

38% of 818 7 % of (13(1 =_| S$.2

(A) 12 (13) 36
(C) 24 (D)) 48 &

23. w2l 7 9 (5Hd »uae
38% of 818 - 7 % of 636 = 138.2 -f-:
(A) 12 (B) 36
(C)24 (D) 48 |
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The ratio of their age is 3l

ge age of a man and his son is 44 years.

1i:sw"’s age 7

; j L:-; :' '_ (A) 35 Years

(B) 15 Years

(C) 20 Years (D) 26 Years i
5 et A A yAliRe Gu2 44 o 9. Bt 21A gl vgs Gu2-t el 3__1_}3 71-{1
Gua hedl vl ? = R .
(A) 35 Qu M an 1 | .' O
c i
CER el © - - : 2
Read statement ol | 1
Select appropriate option as conclusion. - | :;
Statement : Most of the politicians arc liars. Harish tells lies. A

(A) Harish is a Politician (B) Thos who donot tell lies are not Politicians.
(C) Some politicians do not tell lies. (D) You can only benefit by telling lies.

ECICRIENE

e st Rseii dloa Gsay e 53,
[ : Hizwed sl @ @.l}é sl291 931\:‘ LA 9.
_ el sl 8. | (B) % %4 oladl Al daAL 2% siz0ll 14l
(©) beaus 2 sizell 7g oliad ell. (D) i %4 sl o ar wodl 5L 9.
20. Based on Statement & Assumption scleet correct iption :

Statement : Everybody loves reading adventure stories.
Assumption : (1) Adventure stories are the only reading material

(2) Nobody loves reading any other material

E (3) All are hiterate
(A) None is implicit (B) Only one and two arc mmplicit
: (C) All are implicit (D) Only two and three ave impheit

2. sar ot w2l dlod [asen waie s20

gt : 535 culb A5 adiztl A A 9. Wy
i (1) A(Hs adiil 35;1 aia Al 9.
(2) slOU8L c@ﬂ@ s16 WMl aiad d2odu el [ wae szl T *E
(3) et [l 69— : O
(A) (1), (2), (3) Add et L. (B) $5e (1) 214 (2) A B
ﬁ) oL % (1), (2) 2 (3) (@M 19, (D) 554 (2) 24 (3) UM 89,
9 ugs 22023-D | -
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Find out ILC.M. of 360, 108 and 252

(A) 36 (B) 72
(C) 116 (D) 54
v -

360, 108 24 252 AL 3. 2124, 20141,

@\ﬂ . (B) 72

(C) 116

(D) 54

Seven bells ring at intervals of 2 minute,3 minute, 4 minute. 6 minute. S minute. 9 minute and 12

minute respectively. They started ringing simultancously at 5.00 a.m. What will be the next time
when they all ring simultancously.

(A) 7.11 a.m. (3) 6.12 a.m.

(C)6.10 a.m. (D)S.13 a.m.

28. Al Hsll J»tj,,ﬂ-l 2 (i, 3 Bz, 4 (e, 6 B, § (4l2, 9 (42 244 G2 Bz ia2 o .
Sl sz Sl 4412 5:00 a. m. SRR PP UAAl 93 ’*g . ¢d 53 Aud 5412 isd ol SERAEN|

Q12191 7 s -
(A) 7.11a.m. (B) 6.12 a.m. )
(C) 6.10 a.m. (D) 5.13 a.m.

29 Complete the series by appropriate number at (7) mark.

2,9, 28, 05, 1206, ?

(A) 195 (13) 199 '
(C) 208 (D) 217
29. w2 AL oo uioy v il aoll ydl sal.

2,9, 28, G20, ?

(A) 195 (B) 199
((7) 208 (D) 217
30). Once company sclls one product at a profit of 20% and another at a loss of 20% at the same

selling price. What is the loss incurred by the company ?

(A) 1% (B) 2%

(C) 4% (D) No loss

30 wis 5u-l 218 GAaule A 20% 5L i ol 20% 531 2 215 w2vll daie (51d a2 9. dl sudld

___ 52 451 4y 7 :
(A) 1% (B) 2%
(C) 4% (D) 519 451 €l

‘I..'-. :...I'r._'l_ "I!_ i - =
i ”}\"ﬂr . ’: |. -
QRN e ﬁh 4

v mq -2023-D ] 8
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in the same month whlch dayr R

If third Monday of 2 particular month comes on 17th date then,

will come five times ?
(A) Friday (B) Saturday
: (C) Wednesday (D) Thursday X e
. : ‘ 2 lqa . ih':;
A 516 W Al e 174 Al i dl ot o e Al 54 [E.ct Wiz < a :
i (Ra2 .
(A) Ysa 9 TE .
& (€) B2 (D) 222 o
e .
3Z. Selecet proper word which is related to the par given.
:?‘5*1'-& Cup : Saucer < Knife: 2 ""';;.’
(A) Fork (B) Tray
(C) Kitchen (D) Vegetable
32, s A 2A0ilAd Cld ddL 208 gL,
: ol ssqW ;T
sweasollzany: Y ..\
(A) 512 (B) & ()
__(,933‘{1 é, (D) 2WE™HITD
I3 A oirl introduced a boy as the son of the daughter of the father of her uncle. The boy is girl’s
(A) Brother (B) Son
(C) Uncle (D) Nephew R
33. 215 191539 215 szl i AL Ad 2L 5 U 91520 Aellu 55l [uﬁ‘laﬂg Als2L 89, dl
9152 9L52LAL e L ALY, e &
__WH[‘ES (B) 42 \
(C) 5151 (D) MAlA
34. Rajan is sivth from the leftend and Vinay is tenth from the right end in a row of boys. 1t there
arc cight boyvs between Rajan & Vinay, how many bovs arcin row
(A) 23 (B) 25
(C) 26 (D) 24
34 9isaiiill AW A 21 sl 85l 621 2 (A e 93l EAMHL . o A% 2t (A ct?ft 2415
9152121 1A Al A AL A 52AL 915DAL L7 L \ YR
(A)23 (B) 25
(C) 26 24
33. In how many different ways can the letters of word "LEADING” be arvanged in such a way that
the vowels always come together ?
(A) 360 (13) 480
Bq (C) 720 (D) 980
g 35 LEADING' w5y wiein 52l el Ad 2usdl s s 7 Al 2Rl o vis A v ?
' (A) 360 | (B) 480
'(/C) 720) , (D) 980 | -
Eefu TR |

MDPH 2023 - D | +.
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10a person facing towards East, the shadow will be towards :

e R e —

(A) his right (B) his back
(C) his left (D) his front

N 16 5 Y dg A 260 wld dl Al wsenl ...,

(A) Al arnell eusg wssl. B Al wesoAl suogat usal.

(C€) d-l s1ell ouoga wssl. (D) d-Al 2 usal.

37. Based on statement and conclusion seleet appropriate option :
Statement ;- Some mobiles are pagers.,
= No mobile is a laptop
Conclusions : 1= No laptop is pager.
[T - Some pagers are definitely not mobiles :
(A) Only 1 follows (3) Only 11 follows
(C) Neither I norv 1 follows (D) Both I and I follows
37. S A [ResuAL 2UHIE 1oy [Aseu wis 53, 5
L N N
5 1 — 524ls HIoUO A Uw2 ). | ;
— 51O HIoUHH Quziu 4l ‘
[Aesm s 1 = 518 @uaiu gz Al
1l — 52a1s Wt AlsAunl Mo A4l v
(A) S5 1 242 9, (335 5 T 24442 49,
(C) 124240 T 510181 24241 A4l ‘(?I)_L_l SER IECEPEETERS
( | ¢ ¥
TR ue of 2168 | = » Yo
38. | he value of @ . | []:!1 3
\ J Y
| 2
)Y 19 ks g
( ) (u‘l) 12 < ‘ 22 g
| ) "..
(2, "._’,_g
- : . ~¢ Yo
38. Fhe value of | 2165 | Al (534 = 2 LU= q”!
(A) 3 (B) 6 T o=
(€)9 (D) 12 g -
o Y
P . N
M_DPH 2023 -D | 10
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Scanned with OKEN Scanner



(A) 1 (B)3

(C) 5 (D) Lord

Ny "\ \ . b - ?
UL UIALHE Al 6 AL B9 &'Kﬁm-w’&l) BB 5UL 215 B9

...“ 1
~
. ®
(C) 5 (D) 1 2444l 3
40. Which of the following cnglisl:MEHur hav e _,‘jiIlli|:}l_‘ulllri_l‘l‘lll' image
(A)p (B) q
(C)t (D) v
= - . _ . .‘ --_-r]_;--__ ’_"".?
10 il su vz e vt (o7 solllil) 4 sl u[Alo101 Azvf 7 2UALL
(A) p (B3) q
(C)t (1))
41. Find the missing letter at 7 mark. .
2 -2
ge. ot B L " -
K . . < 6 't X
& e e
a3 ) ¥ 1
i 2
(A) U=t BV — 22
)T L2 (D)X — 2
| 11. e (22 AL % 2U1B W2AL A2 YL
(A) U (B) V
(C)T (D) X

[ 1
- - .
9 i
Sy e
£ =

¥ 3 'q:_ .
.‘_'.l'i;' . ¥
‘.-l‘_ -"_1-’..'-'-
.'1‘ 4
- = 3
N - s L
.II : -“‘. MDPH 2023 D l I ]
T (]
- LK L] 5 - — =
Sl %
= . LT L
X E_ L
.‘hlf'l.
rJ T
ELY = -

- 188 _;Ll...
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Which of the following will come in place of the question mark ?

AVU, WUT, VTS, USR, ?

(A) TSQ (B) SQP
(C) TVW (D) TRQ
12. 2IES1012 ABHE W2 Al gou1t 9 w1199l ?

AVU, WUT, VTS, USR, _? e

(A) TSQ (B) SQP
(C) TVW @) TRQ
43. If 2 is substracted from the middle digit of cach of the given numbers, how many numbers thus

formed will be divisible by 3 ?

473 169 825 692 538

(A) One (B) Two
(C) Three (D) Four
43. ] 20Ul £35 drai2iAl 42241 2isHIAL 2 U8 s2AHT 20 AL Al oAl d 2dvazamid] s2dl v
3 as el 2uset 7 ¢ |
173 169 825 092 S 5 - - i
(A) 215 ’ (B) ol a;
4
/,L(') A8 (D) 412 "3'
44. How many independent words can "HEARTLESS™ be divided i to w ithout changing the order . ?
of the letters and using cach letter only once ?
(A) 3 (B) 2
(C) 4 (D) 3 1
14, ‘HEARTLESS 91621l 242211 5H o5l [ 244 225 2421 554 215 7 A1z Guai 5301 s2d :
2qd A 205 ol asia 7 S .
(A= (B) 2
(C) 4 (1) 3
45. (hose the best and most necessary alternative ; ;-
A Hospital should never have
(A) Medicine (B) Doctor 'tf;'
(C) Dirt (D) Nurse
15, Al Grw 2 vt 7 %320 [asau ue szl
siFuani 5ol ......... . 8l A L.
(A) £l (B) $1522
(D) ulzalz 51

12
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A 60 year old patient with anorexia, weakness, parasthesia and mental changes. His tongue was
red, tendon reflexes were diminished, hacmoglobin was 6g% with large red cells and neutrophils

had hypersegemented nuclei. Endoscopy revealed atrophic gastritis. Deficiency of which factor
18 likely to be responsible for his condition ?

(A) Folic Acid (B) Vitamin B12
(C) Vitamin B6 (D) Vitamin B2
': . N ay . 2 3
46. 60 adlu £2l He13, Aotousd, W2 2Fu vi4 wiAdls 525130 Zdl dsdlst 02 1oz aul 9. 4l 264
& areal ¢dl, a-tygoiAl uldlsan 216l a5 edl, iz 254500 dal sdu A2H2 5 siusw qaadlL stul-l

2t Hb AL 3 6g % ¢dl 2imsizsidl g 2421815 A2216 224 sl vioz il edl dead: savulzom-l
Gou d-l [Radl w2 gaviez sidl anst ?

- E] Sl e - = . =
T R R S RN e
» - I-._ )
I i Y .
L]

(A) sidls wlaus (B) (a2l B12
(C) (a2l B6 (D) 213l B2
{ 47. Which tvpe of antimicrobial drug combination is most likely to exhibitantagonism ?

(A) Bactericidal + Bactericudal
@ Bactericidal + Bacteriosatic for a highly sensitive organism
(C) Bactericidal + Bacteriostatic for a marginally sensitive organism

(D) Bacteriostative + Bacteriostatic

47. SULUSL2HL f:{[:«?.l{l‘rS SIOUAA AL A% AL 204l Cl“_-L [QDFltl_lfj_llﬁ WU (:lﬂl:tm_mimn) A4l 215441 19 7
(A) eiselzausd sa + sz s¢
(B) 2icdd Ade9lld 24 112 sis2za122(2 5 + o152 (3208 3¢
(C) 12l HAeAMA 20a Wiz mszlzuze(zs + o523 sa
(D) sis2laaize(2 s + ois2(zu122(24

18. As per Indian Pharmacopoceia-2022, what is specification for solubility of sparingly soluble

compounds™ —— w— B

(A) Tpartin 1-10 parts of solvent (B) 1 partin 10 - 30 parts of solvent
@]ﬂl'l in 30 - 100 parts of solvent (D) 1 partin 100 - 1000 parts of solvent
g; 43. Hizdly stHsidlae-2022 YU HUHYAs gled (Sparingly soluble) il gleudl W2 g uels:el
b 52 241y £ 7 j
(A) alds AL 1-10 SHEUHL 1T L (B) 1e5 Al 10-30 GHUHL T S E:
(C) glds Al 30-100 HPLUHL 1 HI2L (D) 1cts i 100-1000 HRLHE T 4L

A
: i
. MDPH -2023-D | 13
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(A) Ml HAleuA

(C) atauld, Hudlaai

MDPH - 2023 - D |

49, Which of the following is a correct statement 7
(A) The solubility of a compound cannot be increased by cosolvency
F(l;) Non-polar molecules have eood aqueous solubility
(C) Weak electrolytes have poor aqueous solubility
(D) Weak clectrolytes have strong aqueous solubility
19, il sy [da g o !
(A) gl sleadizl 4esieadl (co-solvency) a12L 441zl 25l 14l.
(B) (614 el 2ae2aHl @idl 7 AU gleddl el o,
(C) HE SAszlas2d vl rdld aieddL 414 .
C@H’a Saszladza 4y rdld gleudl 4214 .
S0 An ostwald viscometer was used to measure viscosity of acctone. [t was found to be 0.313 ¢p at
. : ‘ — . g S ST, . - » at 25°C
25°C Tts density al 23°C is 0.788 g/ecm”. W Iu!'_t#ﬁ;l\memum VISCOSITY B_[__dulum at 25°C.
(A) 0.025 centi stokes (BB) 0.295 centi stokes
(C) 3.20 centi stokes (D) 0.397 centi stokes
' S, w121l FosA suan |2 zuzales [zsidlz2 (Ostwald viscometer) AL GUAULIL 524IHL ALl Sl
;: - - . . b .r‘ - . - o e p rrrqq"{f
S A 25°C 4R 0.313 cp didld wuouy éd.25°C U Al 4AdL 0.788 9/em? £9. 25°C Y= A2l 510142l
A (#2541 (kinematic viscocity) secdl wal 7
t (A) 0025 centi stokes (B) 0.295 centi stokes
1;:; (C) .26 centi stokes (D) 0.397 centi stokes
i is used as indicator electrode in a redox titration.
' (A) Platimum wire (B) Silver wire
(C) Glass electrode (D) Mercury electrode
31 255U 2D 2AUAM ... HA5 DA5218 AZls GUASIHE 4IHi 214 49,
— :
(A) \AlzAn auz (B) [Heaz a1z
(GESTRELAL (D) 1543l Hasals
)
52. Vitomin K2 s found im - and also Known as
(A) Animals, Menadione (B) Animals, Menaquinone . WAL
A€7) Plants, Menadione (D) Plants, Menaquinone |
-‘—A
52 [l K2 .l HE AL HILEY A .. AZ15 WBL ALY 5.

(B) wellaAt, HAulsaiA

(D) a2uld2Al, HAlsaiA

14
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5% ah ﬁWhlch of the following serves as : . :
e g major fuel iel source for the brain during prolonged starvatlon

_:_-':‘:? ~ (A) Ketone bodies
e () (B) Fatty acids

(C) Amio acids

(D) Glucose
Al2-Hidl g aib_uaum—ti MUHR £ 3y M2 Yo AL 2olld Adl3 51 53 6 ?
R
(A) Szt ol (B) 34 2Bz £
(C) AL 2R3 (D). 2451 | %
Which isomer of ibuprofen is more active ? -
| (A) R (-) i1somer (B) R (+) isomer
(_2"5(-) Isomer (D) S (+) isomer
AUOOUS A 54 2USHIH2 Ay A4 15 7
(A) R (-) 20 AIM42 (B) R (+) 2416 A2
(C)S () 2D HIH (D) S (+) 20 AL W=
Chemically nifedipine is
Eége (A) L4 = dibydvopyridine derivative (B Lo by dvopy vimidine derivative
%.: (C) 2, 4 = dihvdropyrimidine derivatiy e (D) 2.4 - dibvdropy rrdime deriy ative
% 53 0o da sloluy o
(A 1,4 0610 4L (= LA ey (B) 1,4 st o el o etiesy
f ‘}S{J-*‘ TGN (T ERA R @ R TSI I ERY R R TE
0. \'15 hich 1_11' the following sehedule deals wWith standarvds tor medical devices as per Drue and
: Cosmetic Aet, 1940 — -
f () Schedule M 3 Schedule R
~,J-( ) Schedule R (D) Schedule M
6. Qs sanlZE 82 1940 34000 A 56 sl (sehedule) A5 Gus2oiini izl 2l 26ik
69 ¥ — _
"ff (Ad Lv{rl:;i[-l{ M (B) wA2la R
(C) vyl R (D) 22420\
g 37. W hich of the followine is not used as NON-ageous vehicle for partenterals ?
(:\) Dimethvl acetamide (B) Glveerin
(C) Isopropyl myristate (D) Liquid Parathin
37. ARl Esg (- Al | Uz 22 (parenterals) W2 Gualamidl i.i'-'tlri 12| 7 J:
o (A) st a R0 ¢ Mﬁa’l

(C) 2ud A« M2z (D) uadl s+

'-1»-2023 D | 15

- &
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00).

60).

Ol.

01.

t_:g_é_fqu'ia'iaa_gifiqa (Sta

I = [ 1 -y i . ; 2
As per Indian Pharmacopocia, @ cgration apparatus-A iused for tablets and capsules having
w’—-—_*" y __-.—l-——'-"_'__-- — .
length : '

—

(A) Not more than 18 mm
(B) More than 18 mm
_4;) More than 10 mm but less than 28 mm

(D) More than 10 mm but less than 20 mm

MRl st lu yoror, [auz+ Gusae (DBintegration apparatus-A) Al Guaio ... RECTBREICEL
Nl e Sy w2 w6 7
(A) 18 {H{lAl ay 4] 44

(B) 18 {31l ay ¢l 4

(C) 10 {31l ay u3d 28 Al 2416 iu Ad)
(D) 10 {HlAl ay u3q 20 Dalel 2016 la 4d)

Vincristine is a/an ?

(A) Tropanc alkaloid (B) Quinoline alkaloid

(C) Steroidal alkaloid (D) Indole alkaloid
(A28 2 25 9.
(A) 21U UesEs 4 (B) (541l »ues4140

(C) 222085 8 pe5E14S ¢ (D) O =514 2UEEALS ¢
f———-__‘*

Shinoda’s test is used for identification of :

(A) AlKkaloids

(C) Flavonoids

(B) Tannins

(D) Glveosides

(210514l 524124 Guuiag ... AL 2000 5390 W12 g1 15
(A) AIEEHLE 4 (B) 241434
C) 49418 s (D) G4 5134165 4 3

Microbiological assay for which of the mentioned antibioties can be done with the use of
staphylococcus aureus ?

I=Oxytetra Cyeline 2. Kanamycin
(A) 1 and 2

(C) 1,2 and 3

3. Teicoplanin A photericin B

(B) 2 and 3

) %LD—I— 2and 4

Phylococcus aurcus)H| Gllifl:‘l'&ﬂ ["l’«*t[ﬂ[“irl é;l'ﬂ’*iliflélﬂlﬂm COIRYE
HIOSloUUl Al 5¢ Yoy 530 (assay) 53] 951y 7 ——

Lo wtil5u-22i08 5l o sUMSAlA 33 s
(A) 1 244 2

(C) 1,2 244 3

4529l
(B) 2 344 3

(D) 1,2 34 4

16

C} Scanned with OKEN Scanner




tdentify alocal annesthetice agent with vasoconstrictor effect

» s 1
({\_:) EAOTRINE (B) Bupivacaine d5c
(C) Lidocaine (D) Cocaine
Q&dQIn"u"\l '\*{51&{’1"“ AU a"{l Al ;Ju' nll[

Mnc ~attenuated stram. M. bovis

(B) A hive-attenuated stram. V. alricanum

15 ['l‘ﬂd'taanl (]f-'l.lo-v{ &3,{1 local
ead UL (local naaesthetic agent)
(o (1) opDlatas
@‘_“?‘?63) (D) 536
63. BCG vaceine contains derived from

(C) A hive-attenuated strain, M. tuberculosis

(D) A dead straim, Moavium
63. BCG Al Ml ... AHav ¢lu 9 > S Hidl Gy £ AHL 2UA 49
(A) DA [N U1z @iy, v, ol
(B) 2dd [ Uzl 291y, s, wudl s
(C) dd [Hou U510 2y, ARz sy AL
(D) He U512 2], A, wiauy
64. 'l_'ilﬁmsulmin Is used m treatment of

(A) Pheochromacy toma (B) Bemign Prostatic hypertrophy

(() (‘ﬂrlliilf rilil“l‘l’ (l)) .‘\““”h_\'lilliﬁ

64. T;mlﬁulminu_'t‘l SUALI AL A2 AT HL A 99,
(A) (3211511414214 B) HAA (Benign) U5zl wizzlzs eiquz 215l
(C) &z4-l (a4 (D) 215154l 519 4

63.

Sustained  Controlled release ot oral dosaee form s appropriate for the following type ot drug :

(A) An anti-arthritic drue with a plasma ¢, > of 24 hrs.

(B) Asleep inducing hypnotic with a plasma ty, of 2 hrs,

(C) An anti-hypertensive with a plasma t, of 3 hrs.

(D) An nn-.llumir with 2 plasma t; 5 of 6 hes.used for relieh ol c:mu;il headache.

e —

03. dAdd | [424Al4 1A H5d Adl HU{ Al | 4Ll 2ddl £l ML I (sustained / controlled release
v
oral dosage form) A2t szl Zal HIZ Q12U 9

s Alal vz Guaell sa Al 3[4z 2aui 4y, 24 545 9.

(B) Algt zd sz Guaell dicls e Al 3[4 2UML 1y, 2 54 9.

(C) srsuzz-ai Guatll ean 7l 342 2UH [PRES 69,

(D) AHI= HALALF AQEIE Guaiall £52UH S c,cu %{1 3[4 ML, 0 5415 9,
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Weakly acidic drugs :

-
s —— - ——

(A) Are bound primarily to o< acid glycoprotein in plasma

(B) Are excreted faster in alkaline urine

(C) Are highly ionized in the gastric juice
‘#‘)) Do not cross blood brain barrier

66. He w38 sl @i

; .f' (A) 3(02 22mi Huaed o, vl S siuiZl 2l AsEA Sl .
B o \
i (B) 2UesAS 4 Weuei 35Ul (auod a6
i“ i (C) ¥é2 2HHI b\ B buq-uéaps (1onized) 1Y 89,
:, (D) 25A-HA% L 2214 (blood brain barrier) 4wz 5290 dl.
4 67. Which of the below mentioned partis slinyuhnlml by morphinec.
f‘« s Vasomotor r.:cm:; | (B) Temperature regulating centre
4 (C) Edinger westphal nucleus (D) Cough Centre
67. Aumidl san me 4iglH Grizod 52 19 7
| (A) AlAIHIZ2 57 (B) dAluHIA [ 5
(C) 2572 qzz514 (5644 (D) GH2Y 5
68. What proportion of NaCl liquid is required to give [.5% solution of a drug isotonic with blood
pM('l'hc freezing point of 1% :‘ solution of drug is =0.122 and NaClis -0.3767C)
l‘; (A) 0.79% (B) 0.585%
f | (C) 0.9% (D) 0.5%
’ 68. 342 23 w4z 2 215 £al 1.5% G140 oAl M2 NaCluddl 524 e an e ?
| (1% :‘ zalAl LT A\ Bl C-il"j; ~0.122 441 NaCl 4 <0.576°C ¢9.)
T (A) 0.79% (13) 0.585%
;" . (C) 0.9% (D) 0.3%
E"ff_ 69. Nuclear magnetic moment is NO'T shown by :
" (€) "0 (D) N

24(2 5 Wi~ 21 [ v
L 69 Y5443 Yo-[25 HIH~2 .......... Gl odlAdHl 2uad] 44,
; | -

s (C) 160) (D) °N

-3 -u 1!'-
" _7‘1-:1, I-
] _._i_._lii.:;'h _.I?"t_\.,
ST _-nf,. e
i I'I..'I‘Il:|‘||- "'._-.t ¥ lr- 7|
st _"-|I|l|'-|~,
L r-"'l"l-H""l-Jn.
—

=T
-

L ..3',-:; 7 -

© gl

IDPH -33,&023 D | 18

3
1:,. Hl"'l-. m"'
."'- ok 'n
. o Iur'..,‘ - ¥
L R 5T A, -
] P % Y R RN '
o T 'f_'l-.. i, i

Yy &
1y Iv.IL b‘

- |
rrrrrrrr
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‘.l.f
& 5
. -

me 2.

72.

§

73

74.

70.

-;.'I.u,' ¥

.. _'t

1":!:..

"3 I
. 1: -';;, \ ‘,'_

Rt b
v -
' % ¥
- '-1:.." e .
1 S :ﬁ =
e
(W

0.
~ (A) Mcthyliodide

¢ MDPH -2023-D |

A
-
I T

.

*?}f.Whlch ol the following compound has the highest lma ?

. £l
(B) Methyl chloride
(C) Trimethyl amine (D) Methyl alcohol
ALl sun AU i 4] AY Ae 69 7 -

(A) Frud e 2uuisss

B s e saizd s

(C) a8 e e i (D) e a vuesicia

A A58 A selloil o

(. 2tdlRsd 2. wilagle 3.%?{*&31[5
A 21 2 (B) 2 244 3
(C) 12113 (D) 1,2 94 3

ALHAL U512 2 AL Garg el o dlai WA 565 o)l wioy ) ?
D Y i
(,\)Mﬂ_ﬁ_ﬁl‘i — Qe =

o —

(B) cdlsduas 4n — (b~

(C) ged<dlas UH — Alulq (D) A4S AH — 206

A2 2 A uszAlL 56 sl uioy 6 7

G e

| 20ld2 — 240 + »{d2 = 292 {8
o ‘E_)

2. MRHAZ — URH + 02 = [adla e o

e

IPASML — AU + s = o A8 L&

(A) 1 244 2 4194 89, (B) 2 24 3 412U #9.

- -
!

(D) 1,2 24 3 4124 £9.

(C) 1 244 3 4194 19, (D) 1,2

Al aoniAl 59 ol aea 4l ?

»J,-’-‘ui[d['ﬂ — yzieu

(C) alst — (552

(B) el — %’[Fl
(D) 4z — [3121}&2

[amatdl a1o14l 59 7Sl areu 14l ?
— B

() wiles — wulus (B) 5514l — sl

(C) 5l — gndlA (D) Alns — @A
" T . DR A8l aeud Al
oot b et s Gl WL A AL S, ddl 56 sl al
G125 Aui-] AU 61U MR A

f( W) Al — adlo # (e - [fau (B)well — wn # el — i
’ )yl = vl aell 4 ydl — Rl

B Yz — PR YR 24

. - - - ' \ R I)
ol wrt AL usR 50 ASL U 44l !

(B) 2tk BilRHRa — 2vat

.--—l-'-"'—_—_

Olasun iz — A
e S

(A) 2[EL UL 2RI — YE
(C) 6199 51A4H 1zl Qoll 2 — ﬂﬁaﬂdw

19
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T8 Aus 2 dall 5[ ctsal.

AW s 5(4
1. Gaueisz Al a. sldey
2. »R¥UE Huwll b. [2ys
3. AW W A T
L TRV S d. 2{4<l
(Al -a, 2-b, 3-¢, 4-d (B 1-b, 2-¢, 3-d, 4-a
(C)l-c, 2-d, 3-a, 4-D (D)1-d, 2-a,3-b, 4-c¢
79, UHRAN ME YHA S Uz BrRalBiiin” ez suidl Al 21ad 9, sl vz s ?
(A) JYAIAEIA 152 ((B)EAUAz1H
J(QRCEL (D) udlet 222
S0.  avsl 2 a2l slal £ m@
i :
(A) stwaE el — y3ez: yary ABF @l 2 - 424l 44
(C) uzlsisz 2Asll — [Fei (D) ABusS 2085 — g ys

SI. TACEAAE Uzl 2 w08l 56 A uivu 1)

(A) GUBZ U2 AHYSIR 3413 — STk
(B) ACIN 4l usat W AS A a4 — [Reradis_-
(C) Mulant [aurR weddl 59 a3 4 — aEs

(D) Eax1 51454 — [y .,_.

- - . . - - f’;;ﬂ_—*—_‘-‘\
$2. Ul A sella U4 265 sae]) QU3 ] 7
(A) 4[4 (B) it
_L0) vl (D) dlalz i
r - - - P —— ’ |
83. 21 Q44U 51280 2L 9168 2 Ay AL Ao 555 228 Qo 5] 7
— . - _ = e ————— .
(A) 2B — g # qe| — {_s_u‘[g'[ (B) :.all::i — o :l'ql:::_ - w:-i — QX3

= Ca—

(C)3H — qxnueq 2an # yn — o5

U — Glaosll # 414 — oy 1l

84 Alau 3leudind yaqj -

L ASSA U8 — vy oy[Fge]]
2. AMAD 7Y — Yud) %y

(A) HIA 1 412y 69, (B) {2 4oy 69

Pl e 21 2 o{ 4oy 7). (D) 1 34 2 {4 oy 13

45y ¢9,
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-ﬂil-‘n yaadl, Q[&_&_{ﬂtgal ‘LC-lcl‘\

1 vt WOl pledl — 24 e

5. WURHLAMY — a1l brotd 1 sl

MZ i Ui2U 49, (13) 1 2t 2 6l alou 4l

(C) WA | alou 9. (D) HIA 2 4l 69,

ite the sentence by appropriate meaningful arrangement -

Rewr “A large papa what tummy

has!™

wl a papa has large tummy!

(D) What large tummy a papa has!

(A) Papa has a what tummy large!

() What a large tummy papa has!

There are oas refills still left here.

87. — —
(A) a little

(13) httle

(D)) a few

—

(C) few

gS. [dentify the ilwl speech @ lgnorance is death, knowledece is hife.

‘},}) Metaphor

(C) Oxymoron

(13) Antithesis

(D) Simile

“)

89, Which |1rvl'i.'~_uﬁ_i§___ usced to explain a group |1t: Fioht ;[;_I,-'”:::,_\ .
(A) Hepta (B) Octo
(C) Nona (1)) Deca
L ; s #— s
90. Choose the correct question tag - I he doo didn’t cat hig dinner,
e g g — == —
(A) didn t1t? (B) cat it?
L) doces i (D) did 1t”?
01. Find out in_E[_:_l_'rcg‘l_s_u_mcm;_v.
@:\ Ftiis living faraway with India. » (13) 1 do believe it's her hard work.
(C) The dog is waving its tail. (D) Hari never went into the city.
92. Complete the sentence using appropriate option = | managcd lll:ﬁ{‘t 1 visa. but it was difficult. |
. ——
had difficulty :
= . '
(A) in getting visa oct ViIsa
(C) getting a visi Q)) for getting @ Visa
93. [/sce the mn*tl siven in the bracket and rewrite sentence s | can help you (probably).
2 - o - = I
b @l can help you probably. (B) I can probably help you. 4
(C) I can help |,,-“|,;.h|}- you. (D) 1 probably can help you. .
' ;5

[dentify the adverb of underlined word : The sun shines ever
b H-.-—'—-'

(A) Adverb of time (BB) Adverb of frequency

’@‘)'A(Ivcl h of place

(D) None ol the above

i LW
s i ". - .IFI o ": 'l': :"E..'_.;.l". ¥ ll' --.
> R e o T * '
oy e S S e R BRI . v
¥ T " _I ol ii? -ﬁi 11 S
¥ . Ly II-I -\.f. lI- '.‘Ehﬁta ; ; .|:_-' l -Ir
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S Scleet the correct arpangement.to make a meaningful
L (2) / bike (3) 7 the most heautiful (4)"

(f\) 21 3- ll 4 (") l., 31 4,2
(C)3.4,2,1 —dd) 4, 3,2, 1

Which of the following is not a synonym of W .
il e iispias:” L
(A) Veto (I3) Grant -

(C) Withhold (D) Deny

Sonu Nigam is inlcrus@

[d)in S N N ¢ -,

\"t) to

o,

9.

97. singing,

(3) of
(D) for

e ——— o m——

L ==

XY Bhavini wished her teacher cood morning

L —— A — h-

(B) Bhavini told her teacher good mormming.
(C) Bhavini asked her teacher sood morning,
(D) Good morning was wished by Bhavini to her te:

icher., 2
099,

—

l(l . 1y . N Y1 - " !
entify one of the parts ol speech from given options.
' S —— e

R

(BB) Participle

(D) Intersections

100. lo
flu_ngi_u}ynu live.™
W.a

(B) A, the
(D) The, the

1111111

3 ey 1-‘ - ” > ".'_.f...:-_l. } . 2
'lhu..r-:‘-i - B -' _.T .-_r : 1 -
J ¢ B 4 e 4 - - .

. L i N . ' ¥ I 1 AR
M, 0 B A - R : - . ' . ] R e
b ' " 5 -

e, =

Ar il A LE b TR

r L s
i - e - ]
A B R LR e M o T i 7S - - - - s o L BT F

'.‘. ‘-

G

ful sentence : “Bunty’s uncle (I)/helﬁﬁgﬁl

Change the speech into indirect speech : Bhavini said to her teacher, “Good morning.”
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